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NOTE: I. All questions are compulsory ung ¢ arks,
2. Figures to right indicate fu“ry arry equal m

: marks of each gyl. uestion,
3. Use of stmple caleylator is allowed, .

‘SEM I - 60 -2 HRS - 150

QD) a) Explain with suitable examples the difference between positive and negative
correlation?
b)

find coefficient of correlation for (he following data,

¢) Given two regression equations, Find mean v
20Y-9X-120=0 and 25Y-20X+25=0,

OR

Q1) p) What are the properties of re

gression equations?
q) Find coefficient of rank correlg

in for the following data.
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Q. 3) a) State and prove Baye's theorem on inverse probability. (8)
b) Find mean and varfance of x for the given probability digtribution. (5)
e e e Bt it S TR KIS G

‘ .

| Probability | 0.07 0.2 0.3 0.3 0.07 0.6 l

| L

¢) There are 80 counters lvu'm'ilqicrcd' from 1 to 8O, If one of the counter iy drawn at random, whit

e

i« the probability that the number on counter is 1) multiple of 7, ii) less than or equal 1020, 1ii) an

odd number. (2}
OR
Q. 3) p) What are the properties of normal curve. (5)
q) Three cards are drawn from full pack of cards, What is the probability that i) all 3 are red,
i) one red and two black N ¢
1) A box contains § blue, 6 black and 8 green marbles. [f 3 marbles are drawn at random
what is the probability that i) two are blue and one black, i)one of each color g (5)
wnts lems i uction of index number. (5)
Lay he's affl Jsper's index numbers for the following data (5)
odity | Price in R _j/Quantity
11980 | 19! 0 | 1995
YA 4 80
4 5 1 ()
e 7 - i o)
=D 8 7 -

: Kulkarm had a policy of Rs. 40,000/~ . Afty paying 6 annual premium at the rate
% 5.06 per 1000, he surrendered the policy. The insu;u% ;ompany guaranteed him a
. : éy‘

ender value of 35% of the premium paid excluding the fi rs premium. Find the
ender value that he will receive. (5)
) p Explain briefly policy laps, paid up value and surrender value.. (5)

'>_‘,_:_rnrshall-Edgeworth and Dorbish Bowley index number for the following data.  (5)

Commodity | Price in Rs Tgyent_.i,ty,.,_%
2005 | 2010 | 2005 | 2010
£ A o8 i 1h 1 28 |

it 20 18 | 2B .
£ g | B | 12

D s 6 | 18 |
8 1 26 | 10 \ 20

5

( P10)
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